2012 & 2013 QUAD 3.0 parts (top link

. |

Part #715636 - Pivot bolt - 21mm length - M8 X 1mm thread - 18Nm - Red Threadlocker
Part #715640 - Pivot nut for 21mm bolt - M8 X 1mm thread

Part #715645 - Recessed seal washer for 69mm bolt and nut - 8mm ID

Part #715638 - Pivot bolt with nut - 69mm length - M8 X 1mm thread - 18Nm - Red Threadlocker
Part #715641 - Pivot washer - 1.9mm thick - 8mm ID - 16mm OD

Part #715644 - Shock mounting bolt - 16 mm length - M5 X .8mm thread - SNm - Blue Threadlocker
Part #715646 - Recessed shock mount washer

Part #715647 - Shock mounting dowell - 39mm length - 8mm OD

9 Part #715643 - Lower Link

10 Part #715648 - Upper Link for Mount Vision (12 & '13)

10 Part #715649 - Upper Link for Rift Zone (12 & '13) and Rift Zone 29er ('12-'14)

11 Part #715642 - ENDURO KP5A Bearing

b & ]
i

0O N O O &~ WO N =



